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General Instructions :

Read the following instructions very carefully and strictly follow them :

(1) This question paper comprises four sections — A, B, C and D. There are
37 questions in the question paper. All questions are compulsory.

(i11)  Section A — Question nos. 1 to 20 are very short answer type questions,
carrying 1 mark each. Answer these questions in one word or one sentence.

(111) Section B — Question nos. 21 to 27 are short answer type questions, carrying
2 marks each.

(iv) Section C — Question nos. 28 to 34 are long answer type-I questions, carrying
3 marks each.

(v)  Section D — Question nos. 35 to 37 are long answer type-1I questions, carrying
5 marks each.

(vi) There 1s no overall choice in the question paper. However, an internal choice
has been provided in 2 questions of two marks, 2 questions of three marks and
all the 3 questions of five marks. You have to attempt only one of the choices in
such questions.

(vit) In addition to this, separate instructions are given with each section and
question, wherever necessary.

(viit) Use of calculators and log tables is not permitted.

SECTION A

Read the given passage and answer the question numbers 1 to 5 that follow : 1x5=5

A large number of simple molecules called monomers combine together
by the process of polymerisation to form a macromolecule called polymer.
If the repeating structural unit is derived from one type of monomer, the
polymer 1s called homopolymer. If the repeating structural unit 1s derived
from two or more monomers, then the polymer i1s called copolymer.
Homopolymer and copolymer may be formed by addition or condensation
reaction. In view of the general awareness and concern for the problems
created by the polymeric solid wastes, certain new biodegradable

polymers have been developed.
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1.  S9-HHR SigeTeh 1 Teh 3a18W01 GIT |

2. @1 $CHy - CH (CgHy) 4, Tsh HHEES & HAAT HEsglh ?

3.  UTehideh Sigcieh shl Tsh 3aI&WT i |
4.  FARSH Teholh % FgcTohd H & FgcTeh ! G=HT GITT |

5. ol W T U areft (F-fes) wag % A & fU Y Sgersh 1 AW
ERIELE

Y97 G&IT 6 T 10 TF I6g ITUT & | I1x5=5
6.  HIgdl 924 & F1Y HIeR FTcTehdl H YRad- shl YNk hIfST |
7.  Tordll g o kU 6l 1 fedfd W I8+ § fHiHd 31 &1 91 dqrsy |

8. 3@ dIY I A1H Sdrsu. fSay 37feeh a9 W fed s+9d 2 |

9.  Ufcied, UHHIEH 3R TRl W § 39 HiH HYEh hl g hif FSTEehT T
hid T ™ AT HET 6T 9T 8 |

10. 39 Gl § ¢d T Ush 3eT80 SIfU |
Y97 G&I7 11 & 15 TgIae919 597 & | Ix5=5

11. TSeY hl UM | iy Sia-TEHe AT Trad shl T8 I ATUThar
AT 10~ 6 min~! 9= T | Al FE A(UThAT TeeH ki IUFEYTd H Trd hl
ST, at SAfufshen f B (Tfhor St) 1 o g 2

(A) =&l @

(B) 10~ 6 min~1 9 3Ai¥ek g1 Swrhi

(C) 10~ 6 min~1 & =R &1 S

(D) 3Afehs Tl &l €, E, (Tfshaor Sat) it ymfes T8 hl ST dehel
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1. (Give an example of a biodegradable polymer.
2. Is +CH, - CH (CzHg) 1+, a homopolymer or a copolymer ?

3. (Give an example of a natural polymer.

4, Draw the structure of the polymer formed by the polymerisation of

monomer chloroprene.

S. Name the polymer used for coating non-stick utensils.

Question numbers 6 to 10 are one word answers. IxX56=5

6. Predict the change 1n molar conductivity with the decrease in
concentration.

7. Name the unit formed by the attachment of a base to 1’ position of sugar.

8. Name the temperature above which micelle formation takes place.

9. Out of alitame, aspartame and sucralose, 1dentify the artificial sweetener

with which the control of sweetness 1s the major concern.

10. Cite an example of a liquid 1n a solid sol.

Question numbers 11 to 15 are multiple choice questions. Ix5=5

11. A biochemical reaction was carried out in the absence of enzyme and the

rate of reaction was found to be 10~ ° min—!. If the same reaction is now
carried out in the presence of enzyme, then the K, for the reaction will

be

(A) same

(B) greater than 10~ °% min—1
(C) lower than 10~ % min—1

(D)  Data insufficient, E, cannot be predicted
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fafafea 7 9 - arfyeet gfdsemua stfufsear & gfa @difees
srfifsparsfier @ 2

(A) CH,=CH-Cl
(B) CgH;—Cl

(C) CHyCH=CH-Cl

(D) CH,-CH, — CH, — Cl

gl 199 91q 9LHTY] 1@ dTell 3% @
(A) T

(B) @HIIEE

(C) HHIEe

(D) b9 YTS{ISe

Al T-ATTIE + 3 T TTFHHI0] HATEAT G2Md &, 3AUq Ce + 4 TTLAT I
8, Fifeh

(A) I8 3ch 9 I I i hl Y T@dT g |
(B) 9% UNEd-eiel A T-edt TEdl g |

(C) I8 1 3R Seiergq T8l hid shl Y Tadl & |

(D) ¥Heh 6sH Ueh WA A< BT @ |

3 uitfeafaal o, UMTH o1 SEUSR i 4H: UMTH § 31fehd S
T 3918 ITed BidT 2 | TiF Ic1¢ hl |1 8

(A) (CHg)y-N—<o>»NH<o>
(B) HoN—<o)»N=N<o)
(C) HyN-(o»NH<o)

(D) HO<o)»N=N<o)
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12. Out of the following, the one which 1s most reactive towards nucleophilic

substitution reaction 1is

(A)
(B)
(C)
(D)

13. The ore having two different metal atoms 1s

(A)
(B)
(C)
(D)

CH,, = CH - CI
CeH; — CI

CH,CH = CH - Cl
CH, — CH,, — CH,, — Cl

(Galena
Haematite
Magnetite
Copper pyrite

14. All the lanthanoids show + 3 as the common oxidation state, yet Ce
shows + 4 state because

(A)
(B)
(C)
(D)

it has a tendency to attain noble gas configuration.

1t has a variable 1onization enthalpy.
1t has a tendency to gain 1 more electron.

it has an unpaired electron in 6s.

15. In cold conditions, aniline 1s diazotized and then treated with aniline
again to give a coloured product. The structure of the coloured product 1s

(A)

(B)

(C)

(D)

(CHy)y — N <S> NH <o)
H,N (o) N=N<)
H,N —(o ) NH <)

HO <o) N =N <)
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Tv7 &A1 16 @ 20 & 670, 31 %97 130 10 § 577 vk &l Sf9aT (A) 79T 3R
&1 ST (R) ZTRT 3lbd (64T =97 § | 37 ¥971 & @gT 3w 14 130 70 Hi1ET (i),
(i), (iii) 3R (iv) T @ GAF G0 : 1x5=5

(i)  AHBI (A) 3 RO (R) AT Tl HAF 7, 3 B (R), HHHIA
(A) <h! T&l ATSIAT 8 |

(i) AYHIT (A) IR HRO (R) T F& HIT 7, g HI (R),
IR (A) hl Tal AT g7 2 |

(iii) AUHYT (A) F&l 8, T HRUT (R) TTeTd I 2 |

(iv) 39 (A) TAd 7, 9 HRYT (R) T& HIF 8 |

16. 37¥FHIT (A) : o9 AGEIT H Taeta hl Aieiar a9 s 919 yiEtad aidl & |
FRU(R).: A9 | UHEdq o 1Y S &1 3T—dq 9iafdd gidl @ |

17.  379%97 (A) : FARITBA Ueh ITHSEINH Afeh 3 SN g giaat ° IUferd g
2 |

FRU(R):  FARIHGA § Fe gl 8 I FARIT%SA o 8L T o T ITEr] 2§ |

18. S3¥FHIT (A) : -G 3T WS 2 |

FRU(R) :  3ATEH UH WHA Bld g o 91q 1 AEHl AR AT9Y9¢ €9 9
gred fepaT ST SehdT 2 |

19.  3719%97 (A) : SF, sl TA-3TqGied fRAT ST Hehdl 8 i SF ol &1 |

@R (R):  SFgH IUMCYd B8 F oh WHIY heaid S THT] T HyO o ST
T %eh1ae 399 Hid & |

20. HYHYT (A): T UM 3MMUeh GeIqH dTel UeehHl hl qoi-l H Ucehigiall ob
FIYTh I Bd & |

HRU(R):  Ucehlgicdl U -3V BESNH AEY Bd & |
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For question numbers 16 to 20, two statements are given — one labelled

Assertion (A) and the other labelled Reason (R). Select the correct
answer to these questions from the codes (i), (ii), (iii) and (iv) as given
below : I%5=0

(1) Both Assertion (A) and Reason (R) are correct statements, and
Reason (R) 1s the correct explanation of Assertion (A).

(11) Both Assertion (A) and Reason (R) are correct statements, but
Reason (R) 1s not the correct explanation of Assertion (A).

(111) Assertion (A) 1s correct, but Reason (R) 1s incorrect statement.

(1v)  Assertion (A) 1s incorrect, but Reason (R) 1s correct statement.

16. Assertion (A) : Molarity of a solution in liquid state changes with
temperature.

Reason (R): The volume of solution changes with the change in
temperature.

17. Assertion (A) :~Chlorophyll 1s a coordination compound which 1s present
in green leaves.

Reason (R):  Chlorophyll contains Fe which is responsible for the green
colour of chlorophyll.

18. Assertion (A) : All ores are minerals.

Reason (R): Ores are minerals from which metal can be extracted
conveniently and profitably.

19. Assertion (A): SF, can be hydrolysed but SF; cannot be.
Reason (R): Six atoms of F in SF; prevent the attack of HoO on the

central S atom.

20. Assertion (A): Alcohols have higher boiling point than alkanes of
comparable molecular mass.

Reason (R):  Alcohols have intramolecular hydrogen bond.
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21.  ToIIHAT sl GG ShITTT R 3! Toiciardl & ATYR W 38 Iifiehd hitGq | 2

YT
AT hl TR T 3T ITh! MUk 3TMehid o YR W 3= aFfichd
hITNTT | 2

22.  [CrCl,(ox),]3~ o SATHAE HHTEFE] hl H=HT SHIEY | 2

23. o7 feormes =i gftariyg hifsie qn foedl gom shife ht stfufseam o fow am
feaeh 3T 319-371Y &1l & W TG HFaY GioT | 2

24, TG § € Jcdeh o U Tae[q-3TeeH & UTod 3cATGl bl ITIRh <hitoC :  Ix2=2
(a) Pt 3RSl & E1Y CuSO, hl AT Teletd
(b) . Pt3ciaersl s €12 AgNO, hl i foretd

HYJT

2 A Togq 9R1. ¢ Fed+ s 3Tl ol Fe2t U 7UARId i o ToTT Tohdd HhUSI
hl 3ATIYAhAT BT 2
(feam 71 8 : 1F = 96500 C mol1) 2

25. TH=idIiga grqe o MY & ged Hgrdl shl €@ Sy 1x2=2
(a) Zn
(b)  Ge

26. THIRG TET AT § A Sl shl TE&AT UEhicTd hiToTT :
Cr3+ 3 V3+ (YT AT : V = 23, Cr = 24)

ST | SH-91 S foeRE § aaiiie TRt 8 3K &= 2 2
27. 3381 ad §U, Yol 3T forgshrl | faug shifvy | 2
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SECTION B
21. Define vitamins and classify them on the basis of their solubility. 2
OR
Define proteins and classify them on the basis of their molecular shape. 2
22. Draw the geometrical isomers of [CrCl,(ox),] 3 2

23. Define rate constant and give the mathematical relation between rate

constant and half-life period for a first order reaction. 2

24. Predict the products of electrolysis in each of the following : IX2=2

(a)  An aqueous solution of CuSO, with Pt electrode

(b)  An aqueous solution of AgNO, with Pt electrode

OR

How many seconds does it require to reduce 3 moles of Fe3t to Fe?t with

2 A current ? (Given : 1 F = 96500 C mol™1) 2

25. Outline the basic principle involved in the refining of following metals : 1x2=2
(a) Zn
(b)  Ge

26. Calculate the number of unpaired electrons in the following gaseous

10NS :
Cr3t and V3t (Atomic number of V = 23, Cr = 24)
Which one of them 1s most stable in aqueous solution and why ? 2
27. By giving example, differentiate between antiseptics and disinfectants. 2
56/G/3 11 P.T.0
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28. U W hife hl 1ffsham &1 a1 fomes 49 x 103 s~1 3 | 39 fufshan
U AW i 4g HET ol T 3 g B U Tohadl @I o ?
llog 4 = 0-:6020, log 3 = 0-4771] 3

AT

Hoh!E Rl TA-3IHH HHTRId THRIHS FHIR g1 FH&ud gidr 8

C19Hg90q1 + HoO (M) - CgH,,04 + CgH{504

39T HHIHWT & ToU, SRR SHITIT -

(a)  SATFOTeRdT

(b) Il

(c) ' |of Srf¥epHepi 3R 3eurel & wey | <fufshan w1 o 1x3=3

29. SITEAT hilol, F=T Y& BT I

(a)  Toh1¥I Toh¥el Tl hicAige! Hicdl H THA hidl 7,

(b)  Tergcierd 1d <kl SGal 9L fesgehl STl &, 3R
() YUl JETYTh GY T HTehwgUl TRl SI1GT 7 | 1x3=3

30. 0-002 M UHifeFh 37 I ITeTohdl 8 x 10° Sem1 2 | SHhl HITK IATAShdl Ud
s W (o) diefad it ot tEfs ome % fu Am w1 W

390-5 S cm2 mol~! & | 3
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SECTION C

28. A first order reaction has a rate constant 4-9 x 10> s~1. How long will 4 g
of this reactant take to reduce to 3 g ? [log 4 = 0:6020, log 3 = 0-4771] 3

OR

The hydrolysis of sucrose 1s represented by the following chemical

equation :
C1oHoo0¢7 + H50 (excess) — C;H{150p + CcH150,

For the above equation, predict

(a) molecularity,
(b)  order, and

(c) rate of reaction in terms of all the reactants and products. I%3=3

29. Explain, what is observed when
(a) a beam of light 1s passed through colloidal sol,

(b)  electrified sand 1s sprayed over clouds, and

(c) full cream milk 1s subjected to centrifugation. Ix3=3

30. Conductivity of 0-:002 M acetic acid is 8 x 10 S em~1. Calculate its molar
conductivity and degree of dissociation (o) 1f /\(;I1 for acetic acid 1s

390-5 S em?2 mol—L. 3
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31. TAfeiiga stufseanett ° ffa g 3cargr <t @@ foifgu 1x3=3
i NaBH
ablly
(a) ib—CH2—(‘3‘—O—CH3 >
O
H,0, H"
(b) HCHO + CH;MgBr .
© T 2>
AT
(a) TAfIRgd ®9=awur Tv9g shifou 1x2=2

1) W9 8 Jug-2-37d
(il) ST FARES H df-olel Ucehlald

(b) ARG iRl ohl ITehl TFciF EHSE & S@d §C ShH H SIIEd
$ITT 1
ATIABHATA, I, 4TS

32. URIUQHERES (MnO,) 8 YIERREH GHTHE o Tt | g Gl =/l hl TEHH
R0 Glgd SIRSAT shifoTd | TS A <hl FEHT Y Siiome | 3

33. hI[{U] élﬁlQ .

(a) Ucehigld H Ufcshd 8llss o Taied H IR Fligs S3<h 8idl g,

(b) I Sk BISSIhTSA shi 3TU& Ufcehdd 2iTSS o Fa9ieh 3AfYeh 8id 7,
3

(¢)  2-5HIU=eH foRTsgRelSHIsul & horeaey 4ee-2-34 H&d 3cq1e dl 2 |

I1xX3=3

34. TR, TgdlFeh Td JdlHeh UHMT s Gl o ToIy Teh fafer sl 9 hify |
gag A9hATsT o foe e g ot fafge | 3
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31. Write the structure of the main products formed in the following

reactions : Ix3=3
i NaBH
O
H,0, HY
(b) HCHO + CH;MgBr >
© T _inal®
OR
(a)  Carry out the following conversions : 1X2=2

(1) Propene to propan-2-ol
(11)  Benzyl chloride to benzyl alcohol

(b) - Arrange the following compounds in increasing order of their acidic
strength : 1

4-Methylphenol, Phenol, 4-Nitrophenol

32. Explain all the steps along with the chemical equation which are used in
the preparation of potassium permanganate from pyrolusite (MnO,). Also

give the structure of permanganate 1on. 3

33. (G1ve reasons :

(a)  Thionyl chloride is used for the preparation of alkyl halide from
alcohol,

(b)  Boiling points of alkyl halide are higher than their parent
hydrocarbon, and

(c) 2-Bromopentane on dehydrohalogenation gives Pent-2-ene as a
major product. Ix3=3

34. Describe a method for the separation of primary, secondary and tertiary
amines. Also write the chemical equations for the reactions involved. 3

P T4
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35. (a) @ fom 3R 39k g AT &1 3g@ il | 2

(b) TrEr am™Ieia [T &1 5% I [Iaa= S9R—T =™ 37 39T 373 K
T 9T §16 745 mm 9T =T | 39 A9 W IG ST I a9 g1 760 mm

2 | Tacta &1 Aier geam aitesfara Shifse | 3
3Tt
(a)  ATER AR M Toe¥Al | g 3T S | 2
(b) 100 g5 H NaCl (M = 585 g mol~1) <hl Tehd<l AT Hicil SV b $9eh
fgHTeh H 2 K 1 37914 8l ST ? Il o oY Kp= 1:86 K/m @ | 3
36. (a) THAfiiEd o v RO TRET 1x3=3

(i) TR A Th (geRehl 35 7 |
(i)  HyO il 37uel H,Te hl ITFclId Tehid 314k B |
(iii) SIS Shael Ueh ATHRHISTTA ST 7 |

(b)  TH=ATIREd FHIHRTUT Ul HIfT I1x2=2
(1) XeFa+ 2H,0 >
(i1, + 3Cl, >
CUELL)
HAAT
() Frefafad woF ooeE # o R e % sEER wd w A
I EId WGIQ : Ixg=3

(i)  F,, Cly, Bry, I, (3794 {adSH Tl o 9¢d §T hH H)
(i) HF, HCI, HBr, HI (37+c{1¥ |™2d % s@d gC A H)

(iii) H,0, HyS, HySe, HyTe (SHATEY vl o Ted gY 3HH H)

(b) TI=tafgd shi 9=-T F418T - I1x2=2
(1) XeF,
(i)  HyS,0-

PH R YR HIS RS Y Ha SR Y H S TH Y I HY
= A
14 -
u ]
= ¥
) F
3 +
o | Z
- x
| %
AR T HYCH TS B | I A | YR I T A Ui 1 W e T
CHEPE = TR S TRYCH A R TR H IR T YO T R Y 30T R ST O S TR H IR TR YCH I TRYCH A VS TRYCH I MR TR Y H A VTR
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SECTION D

35. (a) State Henry’s law and mention its two applications. 2

(b) 5% aqueous solution of a non-volatile solute was made and its
vapour pressure at 373 K was found to be 745 mm. Vapour
pressure of pure water at this temperature was 760 mm. Calculate
the molar mass of solute. 3

OR

(a) (Give two differences between i1ideal and non-ideal solutions. 2

(b)  Calculate the amount of NaCl (M = 58:5 g mol~1) that must be
added to 100 g of water so that freezing point is depressed by 2 K.

K, for water 1s 1-86 K/m. 3
36. (a) Account for the following : Ix3=3
(1) Sulphurous acid 1s a dibasic acid.

(11) = HyTe possesses more acidic character than H,O0.

(111) Fluorine forms only one oxoacid.

(b) = Complete the following equations : I1x2=2
i) I + 3Cl, >
(excess)
OR

(a)  Arrange the following in the order of property indicated for each
set : Ix3=3

(1) F,, Cl,, Bry, I, (increasing bond dissociation enthalpy)
(1) HF, HCI, HBr, HI (increasing acidic strength)
() H,0O, HoS, HoSe, HoTe (decreasing order of bond angle)
(b)  Draw the structures of the following : 1x2=2
(1) XeF¢
(11)  HyS,04
P.T.L.
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37. (a) TR Fcaal i GLEATC FARY ¢ 1x2=2
(1) S cSass ol 2,4-DNP

(i)  9IUAE AT
(b)  THHfIREd GeAY qui I 1x2=2
CH,CH,

(1) > ?
KOH, 3%

(c) HHIA hi UL HIFITFATcTh HFA Jadt T+ 8 | gie shitad | 1

AT

(a) C,HgO, AHA o fohEl <hlsii-sh Al ‘A’ I d9 H,S0, H
SA-3ATEed 4 T Th hE[FcIh 7T ‘B’ 3T Teh Uoshigiad ‘C’ UTed
g | ‘C’ ok Hoio 8 W 37 ‘C’ oh STl € GH: ‘B’ ITed 8T | ‘A,
B’ 3T ‘O’ hl UgH <hifGU 3T Hag IUhAsT & v qorHs
GH[h {01 feIET | 3
(b) 39 U ohl Fferfga Aent # Sy giEidd sl ? I1x2=2
(i) A
(il) WA

S Y W YO H S Y S Y - e T H e e H Y
" 5
= ¥
) z
3 +
2 | Z
3 E
B =
CHARE T HYCH T B T I BT R i ee | P RO 1A e T Y
CHEPE = TR S TRYCH A R TR H IR T YO T R Y 30T R ST O S TR H IR TR YCH I TRYCH A VS TRYCH I MR TR Y H A VTR
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37. (a) Draw the structures of the following derivatives : IX2=2
(1) 2,4-DNP of benzaldehyde

(11)  Propanone oxime

(b)  Complete the following synthesis : Ix2=2
CH,CH,

(1) > 7
KOH, heat

CH,COCI
i) (o] > 9
anhyd. AlCl,

(c) Carboxylic acid 1s a stronger acid than phenol. Justity. 1

OR

(a)  An organic compound ‘A’ with molecular formula C,HgsO, was
hydrolysed with dil. H,SO, to give a carboxylic acid ‘B’ and an
alcohol ‘C’. ‘C’ on dehydration gives ethene and ‘C’ also on oxidation
gives back ‘B’. Identify ‘A’, ‘B’ and ‘C’ and write the chemical
equations for the reactions involved. 3

(b)  How will you convert ethanal into the following compounds ? I%2=2
(1) Ethanol
(11)  Ethane

VAT H T R TR0 HE R TR B R TR W R 154 TR

E =

£ =

- g

Y —

T =

: - I
g = 9

G W TR T S TR H S TG T R TH G T e 188 TR

IHIELE BRI BLY BRI HIE LS o FrH TR B R P MR L 2 1 T = S TR Sl T i T Bl T ] P T Ml T Pl TR

I1R¥H
TR H

@
&collegedunla;
India’s largest Student Review Platform

—





